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juk; 5 Gyikg;guprpy; guPl;irf;fhd
,yFtop khjpupg; guP;l;ir 1 ,ypUe;J 30 tiuf;fhd fbdkhd

tpdhf;fSf;F ,yFtop tpilfhZk;

Mrpupau;  P. mk;gpifghfd;

mtu;fspd; juk; 5 khztu;fSf;F cfe;j tpsf;fq;fs; 36
13. fy;tpr; Rw;Wyh nrd;w NghJ &gid tpl &gp mjpf gzk; itj;jpUe;jhs;. MapDk;, kA+hp itj;jpUe;j msT

gzk; &gpaplk; ,Uf;ftpy;iy. ,tHfspy; Fiwe;jsT gzk; itj;jpUe;jtH ahH?

1. &gd; 2. &gp 3. kA+hp

01. guP;l;ir vz; - 17
tpdh ,yf;fk; - 13 tpsf;fk; :

14. vkJ ghlrhiyapy; Ie;jhk;ju tFg;G A, B, C vd %d;W gphpTfshfg; gphpf;fg;gl;Ls;sd. gphpT A apy; cs;s

khztHnjhif gphpT C ia tpl mjpfkhFk;. gphpT B ,y; cs;s khztH njhif gphpT C ia tpl
mjpfkhFk;. vdNt Fiwe;j khztHfs; cs;s gphpT vJ?

1. gphpT A 2. gphpT B 3. gphpT C

02. guP;l;ir vz; - 17
tpdh ,yf;fk; - 14 tpsf;fk; : B ia A Ald; xg;gpltpy;iy

Fiwe;j khztH cs;s gphpT C mjpf
khztH cs;s gphpT $wKbahJ.

Gj;jff;filnahd;wpy; toq;fpa ,U gw;Wr; rPl;Lf;fs; fPNo cs;sd.

24. xU ngd;rpypd; tpiy ahJ?

1. &gh. 12.00 2. &gh. 6.00 3. &gh. 15.00

25. xU mbkl;lj;jpd; tpiy ahJ?

1. &gh. 12.00 2. &gh. 6.00 3. &gh. 15.00

03. guP;l;ir vz; - 23
tpdh ,yf;fk; - 24> 25 tpsf;fk; : 3 mbkl;lq;fs; 2 mbkl;lq;fs; 1 mbkl;lk;

2 ngd;rpy;fs;    - 1 ngd;rpy;fs;    = 1 ngd;rpy;fs;
   48.00   30.00    18.00

2 mbkl;lq;fs; 1 mbkl;lk; 1 mbkl;lk;
1 ngd;rpy;      - 1 ngd;rpy;    = ...............
   30.00   18.00    12.00

1 mbkl;lk; 1 mbkl;lk; ...............
1 ngd;rpy;    - ................  = 1 ngd;rpy;;
   18.00   12.00    6.00

rpy FwpaPLfspd; ngWkhdk; mjd; mUNf jug;gl;Ls;sd. mtw;iw mtjhdpj;J tpdhf;fSf;F chpa ngWkhdj;ijg;

Gs;spf;Nfhl;by; vOJf.

= 4 = 12 = 8 = 16

26.     (...........) 27.     (...........) 28.     (...........) 29.     (...........)

2 mbkl;lq;fs;

1 ngd;rpy;

tpiy &gh 30.00

3 mbkl;lq;fs;

2 ngd;rpy;fs;

tpiy &gh 48.00
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04. guP;l;ir vz; - 23
tpdh ,yf;fk; - 26> 27> 28> 29

tpsf;fk; : 4 4=1 =    4 vdNt  =1 12 4=3 =      12  vdNt =3

8 4=2 =    8 vdNt =2 16 4=4 =      16  vdNt +=4

26. 27. 28. 29.

1. ‘fdfehafk;’ vDk; ngaiuf; Fwpf;Fk; FwpaPL vJ?

1. 2. 3.

2. ‘49649’ vDk; ngWkhdj;ijf; Fwpf;Fk; FwpaPL vJ?

1. JKMKJ 2. JKMJK 3. JKJMK

05. guP;l;ir vz; - 25 tpsf;fk; :

tpdh ,yf;fk; - 1> 2 1  2  3 4   5 6 7 4    9  6  4 9
f d f eh a f k; g.M M E}  g x

1 2     3 5 4   3  2  1

35. g pd ;tUk ; nrhw ;fSf;F vjpNuAs;s ,yf;fq;fs;
mr;nrhy;iyf; Fwpf;fhtpl;lhYk; tupapYs;s VjhtJ xU
nrhy;iyf; Fwpf;fpd;wJ. MfNt mtw;iw ,dk;fz;L mk;Gf;Fwp
%yk; njhlu;GgLj;Jf.

06. guP;l;ir vz; - 25
tpdh ,yf;fk; - 35

tpsf;fk; :

4. fPNo jug;gl;Ls;s cUtpy; ,U rpy;YfSk; mk;Gf;Fwp fhl;ba jpirapy;
RoYnkdpd; Cf;Fk; Df;Fk; ahJ epfOk;.
1. C fPo; Nehf;fpr; nry;Yk; mNjNtis

D Nky; Nehf;fpr; nry;Yk;.
2. CAk; DAk; Nky; Nehf;fpr; nry;Yk;.
3. CAk; DAk; fPo; Nehf;fpr; nry;Yk;.

5. fPNo fhl;lg;gl;Ls;s cUtpy; nghpa rpy;Y mk;Gf;Fwpapdhy; fhl;lg;gl;Ls;s
jpirapy; RoYnkdpd;> C f;Fk; D f;Fk; ahJ epfOk;.
1. C fPo; Nehf;fpr; nry;Yk; mNjNtis

D Nky; Nehf;fpr; nry;Yk;.
2. C ck; D ck; Nky; Nehf;fpr; nry;Yk;.
3. C Nky; Nehf;fpr; nry;Yk; mNjNtis

D fPo; Nehf;fpr; nry;Yk;.

++
++
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07. guP;l;ir vz; - 26
tpdh ,yf;fk; - 4> 5
tpsf;fk; : 04. A rf;fuk; tyQ;Rop B rf;fuk; ,lQ;Rop 05.   A, B ,lQ;Rop C

           C, D Ak; Nky; Nehf;fpr; nry;Yk; fPo; Nehf;fpr; nry;Yk; DNky;
Nehf;fpr; nry;Yk;

rhpahd tpilapd; fPo;f; fPwpLf. fjputDf;F vjphpy; mkPH mkHe;jpUe;jhd;.

12. vdf;F vjphpy; mkHe;jpUg;gtH ahH? RjDf;F tyJ ifg;gf;fj;jpy; fud;

mkHe;jpUe;jhd;.

1. Rjd; 2. Mde;jd; 3. fud; kjDf;F ,lJifg;gf;fj;jpy; Mde;jd;

mkHe;jpUe;jhd;.

13. fjputDf;F tyJgf;fj;jpy; mkHe;jpUg;gtH ahH? kjDf;F vjphpy; Rjd; mkHe;jpUe;jhd;.

1. Mde;jd; 2. mkPH 3. fud; ehd; mkPUf;Fk; RjDf;Fk; ,ilNa nrd;W

14. vdf;F ,lJifg;gf;fk; mkHe;jpUg;gtH ahH? mkHe;Njd;.

1. Rjd; 2. mkPH 3. kjd;

08. guP;l;ir vz; - 27
tpdh ,yf;fk; - 12> 13> 14 tpsf;fk; :

17. xt;nthU nts;spf;fpoikAk; ghlrhiyapd; fhiyf; $l;lj;jpy; khzt jiytd; xUtH ciu epfo;j;JtJ

tof;fk;. filrpj; jpq;fsd;W fhiyf; $l;lj;jpy; ciu epfo;j;jpatd; mkyd; Mthd;. mkyd; ,d;Dk; Ie;J

thuq;fspy; $l;lj;jpy; kPz;Lk; ciu epfo;j;j Ntz;Lk;. filrpj; jpq;fl;fpoik [Pd; 15k; jpfjpahf ,Ue;jpUe;jhy;

mLj;J mtd; fhiyf; $l;lj;jpy; ciuahw;w Ntz;ba jpfjp ahjhf ,Uf;Fk;?

1. [Piy 18 2. [Piy 22 3. [Piy 20

09. guP;l;ir vz; - 27
tpdh ,yf;fk; - 17 tpsf;fk; : [Pd; 15 + (5 thuk; 5x7) 35 = 50

50 - 30 = 20 [Piy 20
Mrphpahpdhy; toq;fg;gLk; 60 khjphpg; ghPl;irfspy; Kaw;rpAs;s khztd; xUtd; ngw;w Gs;spfspd; xU gFjp

fPNoAs;sd.

15. ,k;khztd; 50> 55> 60 ghPl;irfspy; ngwf;$ba Gs;spfs; vit?

1. 74> 70> 76 2. 72> 78> 74 3. 64> 70> 74

Kaw;rpAs;s khztdpd; Kd;Ndw;wj;jpy; mf;fiwAs;s ngw;NwhH mk;khztdpd; Nrkpg;Gf; fzf;fpy; khjhe;jk;

Fwpj;j &gha;fis itg;Gr; nra;fpd;wdH. rpy khjq;fshf mtHfs; itg;Gr; nra;j &gha;fs; gpd;tUkhW.

16. rpj;jpiu khjk; ngw;NwhH itg;Gr; nra;jpUf;ff;$ba njhif ahJ?

1. 53 2. 48 3. 50

10. guP;l;ir vz; - 27 tpsf;fk; 15) nghJtpj;jpahrk; +6, -4
tpdh ,yf;fk; - 15> 16 vdNt 68+6=74-4=70+6=76  74-70-76

16) nghJtpj;jpahrk; +5, +10
vdNt 28+5=33+10=43+5=48+10=58

48
13. xU tFg;gpy; 20 khztpfs; cs;sdu;. Mrpupia mtu;fis A,B vDk; ,U FOf;fshfg; gpupj;jhu;. FO A

apypUe;J xU khztp FO B apw;F khw;wg;gl;lhy; ,U FOf;fspYkhd khztpfspd; vz;zpf;iffs; rkdhf

mikAk;. FO B apypUe;J ehd;F khztpfs; FO A apw;F khw;wg;gl;lhy; FO A apyhd khztpfspd;

vz;zpf;if FO B apyhd khztpfspd; vz;zpf;ifapd; %d;W klq;fhf ,Uf;Fk;. FO B apYs;s

khztpfspd; vz;zpf;if ahJ?

1. 9 2. 10 3. 11

ghPl;ir vz;

ngw;w Gs;spfs;

5 10 15 20 25 30 35 40 45

60 66 62 68 64 70 66 72 68

khjq;fs;

itg;Gr; nra;j &gha;fs;

ij khrp gq;Fdp rpj;jpiu itfhrp

 28 33 .................  5843
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11. guP;l;ir vz; - 28 tpsf;fk;  20 A, B rkdhapd; 10> 10.
tpdh ,yf;fk; - 13 vdNt

14. xU tFg;gpYs;s A,B,C vDk; 3 khztu;fspd; epiwfspd; $l;Lj;njhif 71 fpNyhfpuhk; MFk;. A,B apd;
epiwfspd; $l;Lj;njhif 48 fpNyhfpuhk;. mNj Nghy;  BC apd; epiwfspd; $l;Lj;njhif 45 fpNyhfpuhk;
MFk;. KiwNa A,B,C apd; jdpj;jdp epiwfisf;Fwpf;Fk; tpil ahJ?
1. A26, B23, C22 2. A23,B22,C26 3. A26,B22,C23

12. guP;l;ir vz; - 28 tpsf;fk;  A, B, C = 71KG A, B, C =   71KG

tpdh ,yf;fk; - 14 A, B = 48KG C+A (23+26) =   49KG

C = 23KG B =  22KG
A, B, C = 71KG
BC = 45KG
A = 26KG

1. MW MLfs; 3 rhf;Fg; Gy;iy 3 ehl;fspy; jpd;W Kbf;Fkhapd; xU ML %d;W rhf;Fg; Gy;iy jpd;W

Kbg;gjw;F vt;tsT ehl;fs; vLf;Fk;?

1. 3 ehl;fs; 2. 6 ehl;fs; 3. 18 ehl;fs;

13. guP;l;ir vz; - 2 9 MLfs; rhf;Fg; Gy; jpd;Dk; ehl;fs;

tpdh ,yf;fk; - 1 6 3 3

tpsf;fk; 2 1 3

1 1 6
1 3 18

2. ehDk; vdJ ez;gpfSk; jPghtsp tho;j;jpjo;fisg; gupkhwpf; nfhz;Nlhk;. ,jd; nghUl;L ehk; xt;nthUtUk;

kw;iwa xt;nthUtUf;Fk; xt;nthU tho;j;jpjio mDg;gpNdhk;. ehk; midtUk; gad;gLj;jpa nkhj;j

tho;j;jpjo;fs; 30 MFk;. vdf;F vj;jid ez;gpfs; cs;sdu;?

1. 5 2. 6 3. 30

14. guP;l;ir vz; - 29 tpsf;fk; 6 x 5 = 30

tpdh ,yf;fk; - 2 6NgH x 5 tho;j;jpjo;fs;  = 30  tho;j;jpjo;fs;

6 NgH = ehd; + 5 ez;gpfs;
vd;dplk; 6 ,uz;L &gha; ehzaq;fSk; 8 Ie;J &gha; ehzaq;fSk; ,Ue;jd. vd;dplk; ,Ue;j gj;J &gha;
ehzaq;fspd; vz;zpf;if Ie;J &gha; ehzaq;fspd; vz;zpf;ifia tplf; FiwthfTk; mNjNtis ,uz;L
&gha; ehzaq;fspd; vz;zpf;ifia tpl $LjyhfTk; ,Ue;jd.

9. vd;dplk; ,Ue;j ehzaq;fspd; nkhj;j vz;zpf;if ahJ?
1. 20 2. 23 3. 21

10. vd;dplk; ,Ue;j ehzaq;fspd; nkhj;jg; ngWkjp?
1. &gh 122/= 2. &gh 126/= 3. &gh 132/=

15. guP;l;ir vz; - 28 tpsf;fk;  09. 6+7+8 = 21

tpdh ,yf;fk; - 9> 10 10. 6x2+7x10+5x8  =12+70+40=122

17. EAT vd;gij 5> 1. 20 vdTk;> ATE vd;gij 1> 20> 5 vdTk; Fwpj;jhy; TEA vd;gij vt;thW Fwpf;fyhk;?
1. 20> 5> 1 2. 20> 1> 5 3. 1> 5> 20

16. guP;l;ir vz; - 30 tpsf;fk;  A-Z tiu 26 vOj;Jf;fs; mt;nthOq;fpy; E:5, A:1,
tpdh ,yf;fk; - 17     T:20 MFk;. A:1, T:20, E:5 MFk;. vdNt TEA ---- 20, 5, 1

18. xU ghy; Nghj;jypd; tpiy &. 10 MFk;. Nghj;jypd; tpiyia tpl  ghypd; tpiy &. 6 mjpfkhFk;. MfNt

ghypd; tpiy ahJ?

1. &gh 6.00 2. &gh 8.00 3. &gh 9.00

17. guP;l;ir vz; - 30  tpsf;fk; Nghj;jy; + ghy; = &. 10

tpdh ,yf;fk; - 18    6 6
 2 4 2 2
   2 8 2

16. A vd;Dk; ehl;by; khiy 3.00 kzpahf ,Uf;Fk; NghJ B vDk; ehl;by; mNj ehs;  fhiy 8.00 kzpahf

,Uf;Fk;. B vDk; ehl;by; khiy 3.00 kzpahf ,Uf;Fk; NghJ A vd;Dk; ehl;by; vd;d Neukhf  ,Uf;Fk;?

1. khiy 1.00 kzp 2. fhiy 8.00 kzp 3. ,uT 10.00 kzp

18. guP;l;ir vz; - 30 tpsf;fk; B apy; khiy 3.00+7.00= ,uT 10.00  A apy;

tpdh ,yf;fk; - 16

11                               9
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